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S.No. Language Question Option 1 Option 2 Option 3 Option 4
1 English |...... has maximum theoretical efficiency? Diesel cycle Rankine cycle Carbon-Iron diagram |Carnot cycle

T dcfeds : el - AT
H. d. -------------------------------------------------- \ m
indi | 5 EED {FrseT T N FREAlC THh
The change in
internal energy is
2 English [An adiabatic process is one in which ? No heat enters or Temperature of the equal to the All of these
leaves the gas gas changes mechanical work
done
T #7 Fg A o - 3
. | ufsaefes ufshar ag & e Tl F ar yawr 3t @ areaEe o
Hindi afRade Fifas RIRE
.............................................. | L § AR deol STl & #1F & S B
GGG
3 English [In an isothermal process, there is no change in ? | Temperature Pressure Enthalpy All of these
... | rsEyHEd iR Ao H
Hindi oo a8 avar 21 ATgAT CEIC) ardq aikar Tg el
4 English In a nozzle, entire friction loss is assumed to Inlet and throat Inlet and out let Throat and exit All of these
occur between ?
Ll v < = S F 9T [SeTee 3R T I (Yre) 3R
Hindi Selolc Y
ndi et T gt @ B (¥ R ISR o e Al
5 English [Compounding methods of Impulse turbines are Compoundlng for Compounding for Compounding for .. |All of these
velocity pressure pressure and velocity
L Lo : 39 & fow gard & fou gard I &




Power required to drive a centrifugal pump is

Forth power of

6 English [directly proportional to ................. of its Diameter Square of diameter [Cube of diameter .
. diameter
impeller ?
Th Shog YR T&T I dolled & T Ao
Hindi [3Ta2Te ATFA, SR & ooovoe. & = g HT T O &7 9 ;m"“ T
Feqarfaes gl gl
7 English [Potential Energy is the energy due to Motion of mass Elevation of Mass  |Change in velocity | All of these
Hindi |Gsnfad o fhgd FROT gl arell Foif gl |gegdeT i aifd  |geuds & a1 |der & 9Raaa Ig el
. . . S Composition of
8 English [Internal Energy in a given mass is indicated by Pressure Hotness Internal Particles All of these
foraY ST 91T geadTT # aRke Sl . TR Ul
H. . . K gﬁ.
ndi | e gam S Y S ¥ s BICH (1) T e w3l
9 English [What are the forms of Internal Energy Molecular Chemical Nuclear All of these
Hindi [3dRe Fal & ®9 41 § 2 EINIGED AGIRIGED AR Tg Tl
. . Mixture of air and Water plus Nitric
10 English [Hetrogeneous System is Water Vapour Octane plus Heptane Acid Water plus steam
o g IR ST AT oy oy gl Ud AT
(7 ~
Hindi [geroied f@Tcq a1 § ¢ 1 BT HHA T goee | g 3R T
11 English .thh laW states that the internal energy of a gas Charle's law Joule's law Renault's law Boyle's law
is a function of temperature ?
. |l & e Fgar & & I @ naike
Hindi |\t Srommer =7 v 78 & 0 el @ EE ool @ A e & g\ |€§d & @ad
12 English E)licharge of a centrifugal pump is proportional ir}l)lfeller diameter D? D’ U D}
.. |TF Heg TERE TFT F SEAS 2 3 3
Hindi 4 . I GRIGCR IR &=E (D) D D /D
If one system is in
. If two systems are ey . .
If two states are in not in thermal equilibrium with
13 English [Zeroth Law of Thermodynamics is thermal equilibriun second but not All of these

with a third system

equilibrium with
third system

equlibrium with
third system




gfe T Yumelr

afg ar gonferar  [3fe & gomferr & Y
L Teh ey gomell [y gumel & (Aol H §, olfehel
Hindi |3H 9afdhr &1 oo fage @ g2 N 1o T e [N SO % g el |
Aol & 8 H A & 1Y GHHIOT 8T
g
14 Enelish According to kinetic theory of gases, the absolute |Volume of the gas is |Pressure of the gas is |Kinetic energy of Specific heat of gas
£ zero temperature is attained when ? Zero Zero the molecules is zero [is zero
Hingi T80 & st feeia & 3epar, o o |39 & a9 H qar g |3opd By afasr (e @ faferse
AT9HT e 9Tod gl & 2 T E e T & FSAT YT &
15 English Fluxes are used in welding in order t.0 .protect the Oxidation Carburising Dirt D1sto'rt10n and
molten metal and the surfaces to be jointed from ? warping
afessT # word wwmﬁm . Ry 3k
Hindi (3R NS ATeT arell FAT &F oo q oot FTaRTSISTeT et Pyt
T H 8IaT & 7
16 English [Grey cast iron is best welded by ? TIG Oxy-acetylene MIG Submerged arc
| AT BT s ¥ ey <
Hindi T do8 g B & s S i efafeda v 3mS S FIHIT Ag
17 English [Material used for making Pistons of IC Engines is |Cast Iron glrl;?:llgum -Alloy Cast Steel All of these
o |3TSHE 9 & e e & ToT 3udre N TogfAfs A |,
Hindi ooy " Sy arel amemaly e & 2 Pl T BT il
18 | English |A fluid is said to be ideal, if it is ? Incompressible Inviscous and Viscous and Inviscous and
incompressible incompressible compressible
Hingi  |©F X erd @1 MG el S 8N (e gelfaeend 3R [EEIREIEI gelfaend 3R
TE 0 2 EiCINIER] kiCINIER] gaifsa
Longitudinal stress .
19 English [Modulus of rigidity is defined as the ratio of ? and longitudinal Volumetric st.ress . Lateral stre':ss and Shear stre'ss and
strain and volumetric strain |lateral strain shear strain
Hindi FORAT & HTAD Bl .ooovrrn & IS T 3R 3?1?” 'W%EF”E'E &H gred ¥ 3k 39EIOT T 3R
3T & & H GRS fhar a2 g méwl%a e qred ¥eT 3IRYUT T
20 English [Celsius temp is equal to deg K -188.7 deg K -273.15 deg K - 488.88 deg K - 98.60
Hindi |8fcdad@ dq#deT fohds sRe ¢ 2 deg K -188.7 deg K - 273.15 deg K - 488.88 deg K - 98.60




For the measurement of high voltage (say 10kV),

21 English one will use ... voltmeter ? Moving Iron type Hot wire type Permanent type Electrostatic type
.. |3Ta dees (S 10%dn F AT F fow, FIs :
Hindi |7 & Ao P 3T T AT IR YR |73 dR G TR 9N golagrEefes JahR
22 English |[Current is measured in ? Ampere Voltage Watts Hertz
Hindi [9RT & [ AT ST § 2 VFIRR drecst gic gcol
23 English The terr}perature rise of a transformer is directly Leakage reactance  |Reactive power Apparent power None of these
proportional to ?
. |U CEBER # d9sd # gef : .
H Rarg &1 gidafshar [gfafsar JcT8eT erferd SolH Y
i % e s A W S| 2 & s o e
A 4-pole, three phase, induction motor has a
24 English [synchronous speed of 25 revolutions/second. The |12.5 Hz 25 Hz 50 Hz 100 Hz
frequency of the supply to the stator will be ?
T 4. tﬂ?—r AT =R, ﬁITUT Hrex 7 25
Hindi [TFhY/Aehs HT Jedehliah fd gl &l 12.5 Hz 25 Hz 50 Hz 100 Hz
T @ 3G El g 2r gt
An electric heater draws 3.5 Amps from 110 V
25 English [source. The resistance of the heating element 31Q 3.1Q 38.5Q 385Q
would be approximately ?
... |uF soifFesd grexX 110 VET & 3.5 Amps
H o 1Q 1Q S5Q Q
T %1 @R B wfeRe aehr 3 : 382 38
26 English [Unit of magnetic flux is ? Weber Weber/ meter Tesla None of these
Hindi |JFEahiT FoIdd & SHS & .ooooee.e. ? asX qs/HIEX ST SAH H Fis Y 8T
27 English .If supply voltage qf 3 phase 1nductlog motor Ipcrease by four Increase two times  |Decrease two times |Decrease four times
increases by two times then torque will ? times
o |afE 3.%e geRreT AT @ i ateds
Hindi a;r 3'|F'|T g% SITdr %_ (__n_ E‘I? FaT .}I IRy d-I_’O'II d¢ SITUdTI a’ d-I_’O'II d¢ ST aT d;I,dI < Sdm A d;I,dI < SITadl
73 English A 50V range voltmeter has sensitivity of 20k 1000k O 10k O 0.4k O » 5K O

Ohm/V. Total resistance of voltmeter will be?




Teh 50 VIS diecHrey & aearferdr 20 k

Hindi [Ohm/V § dlecsTex &r Dol GfcRIer &7 8191 {1000k Q 10k Q 0.4k Q 2.5k Q
r)
29 English When a forth resistor is COI'lIICCted in series with Will increase Will decrease Will remain None of these
three resistors, the total resistance ? unchanged
I cliet GicRiere! & Ty eh =y .
Hindi |JfcRitreh Aol & Siis feam St § af de [§gam 31T AT QI TH H FIs Y 8T
1L
30 English [Shunts are generally made of ? Copper Aluminum Manganin Silver
Hindi [2c AMAIT: §o &ld & ? PR F TegfAATH & AT f{eax (@EN &
An alternator running at 1000 rpm generates
31 English [voltage at 50 Hz. The number of poles on the 2 4 6 8
alternator will be ?
1000 rpm 9% Telel ATl Teh 3fecisied 50 Hz
Hindi |0 dlecs 3cUeed AT gl eciaded W 2 4 6 8
poles & TEAT......... grafr|
1 English If a 'live' conductor of a public supply touches §upp1y voltage will  |supply voltage will 1o current will flow current will flow to
earth metal ? increase decrease earth
Hindi e TF [AAAE I FT AT FSHe HTATS dlocol I |[TTalls dlecsl HCI|HIS I oTal agdll [die eRdl H agar
gedl orq @ Tar ¥ ar -
33 English For determlplng the polarity of the voltage drop Resistor Current Emf in the circuit All of these
across a resistor, we do not require value of ?
Tsh YicRIEe & dlecst 39 I gdradr
Hindi WW%W@WW@[ gl GRT gféhe # Emf Tg Gl
AT e g
converts mechanical
. v x B =E is the equation of the electrical . . . . .
34 English machines which ? is a DC machines has magnetic poles |works as a motor energy into electrical
energy
. R I
Hindi |vx B=E facgd A=Al &1 0T &1 § 2 [0 3 AT & [TeahrT 4a gl faega i &
<3 3 > HH FAT ¢ >
LT B
. A moving-coil instrument can be used to measure . .
35 English Low frequency A.C. |High frequency A.C. |Direct current D.C. and A.C. both

?




.. |FTIe & foT e aAfafid s 3UROT H [FA Al 3Td 3gdr 6r T0HT0 3R 300
Hindi ¢ 2 arefr e )
39T fRAT ST FehedT &2 TOHTO HRT TOHTO &Y gl RT
One factor considered important in the . . . Reduction of
. . .. . Decreased insulation Smaller size of the
36 English [economical transmission of power at high . . Increased 12r losses . . conductor cross-
. required by the line generating station .
voltages is the? section
Hindi 1759 dleest W foatell & GoROT H Tah mf”s Q'WEU'W“H rET & gefr [2oed AT HI  [FHUSF &
37l ITARAET HRH FIAT §? Faa e Bl R hIFAFAT H el
37 English [The characteristics of drive for crane hoisting is ? [Smooth movement |[Precise control Fast speed control [ All of these
Hindi [shel ToeY & fOT srsg & fAdwaw = &2 |f@etr afa aére fag=or aer Iafd @gaor |98 g
13 Enelish In case of centrifugal pumps the starting torque is |Double the running [Slightly more than  [Same as running Less than running
£ generally ? torque running torque torque torque
.. |es JOR® UG & AFA H URTAS <o |Ifeer <k Ifeter efh & 3T S S
Hind RS e & SR Rfer e & @A
R 1.1 L5 £ S g ¥ GG SaTer a
. . Carrying load
39 English In a contactor, overheating of contacts may result High inductive loads Copper oxide on continuously for a All of these
from ? contacts .
longer time
Hindi | contactor, H TUhI & TIGT IRHA gl & [3Td APHACHS |TUhI W PR :jldEN 34125«1 S
BT oo, & geha B R JFaTss
AT
. Transformer cores are built up from laminations |QOil penetrates the Eddy current loss is Less.msulatlon s Turn ratio is higher
40 English . . required for the i
rather than from solid metal so that core more easily reduced S than voltage ratio
windings
Hindi TAHER SR 3T 9T & ST offadey mgﬁm Qi rl ' Eddy e aJehdTel mnsirmg “é’%ﬁ’; ol JeUTeT dlecst
foras 5 2 Ce S fw
§ fAfAd g &, AT § @ maRTar gy & [ A J




